o
ol SI= ol— [ =
HUIYAE SHE MTJ| A= 2H|QYA T2 g
=5 MY/MIE o0l x|
NP— MO
Rost g3
froei
THE:
AT AH|IQIBIA AR 1.4301.
a2 che| Ma JHAE G 4581.
I A% AE|QIBIA AE1.4301.
AZSZ AZIE2 17 ST 2 2 Ml
2 7| LI -60 °C ~ +200 °C.
M O[22
st Hul odnf.
agl el EctAal 2 FE) Mal ook M2l
HH.
AEIQIBA AR A MR XCIEY ot Ol
E Rl Ex| & cie| HAA
SZF AT LA A2 OfFt F71 2t 2 E.
Fl 237 =B
M2 80|, AlZ Ardol| E35| Xerg
xgl:
I HO R HE
=N
| A+ 15mm i
~
32
.| !
_._.__._._.__._{._
Lq '
g
8
=}
25|, bj
A |
|
| V1] .
| |
L
I
ESQY%
AHQIYA AR RHE g
FEHS A B D H L 313
N
K0652.200301 200 48 M8x25 80 225 1000
K0652.250301 250 48 M8x25 80 275 1000
K0652.300301 300 48 M8x25 80 325 1000
K0652.350301 350 48 M8x25 80 375 1000
K0652.400301 400 48 M8x25 80 425 1000

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



o = -
HAUIJAE SHE M T} U= 2H|IZA gl
E= Qot
=2 Hs A B D H L 5t=
N
K0652.500301 500 48 M8x25 80 525 7000

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



